Answers Year 3

Fraction of an Amount (1)

Reasoning and Problem Solving

Whitney has 12 chocolates. Whitney has two FI“ in the Blanks

chocolates left.

) 1
On Friday, she ate; of her chocolates Ve ~
and gave one to her mum. 1 n
, Loteo=2of | | =
QOn Saturday, she ate - of her rermaining 3 4
chocolates, and gave one to her brother. e /
r N

On Sunday, she ate? of her remaining

1 1
chocolates. GOf 50 = E of 25

How many chocolates does Whitney
have left?

Fraction of an Amount (2)

Reasoning and Problem Solving

16 Ron has £28 Ron has £4 left.
This is %of his

original amount.

This is ; of a set of beanbags.

On Friday, he spenti of his money.

On Saturday, he spent% of his remaining
éééé money and gave £2 to his sister.
6 666 On Sunday, he spent% of his remaining

money.

H in the whole set?
oW riany were In the whale s How much money does Ron have left?

What fraction of his original amount is
this?




Fraction of an Amount (3)

Reasoning and Problem Solving

Mo makes 3 rugby shirts. 150 em Alex and Eva share a bottle of juice. Alex drank
5 600 ml of the
Alex drinks — of the juice. oo
CY G i 5
. . OfiEinf'l roll of Eva drinks 200 ml of the juice. Eva drank ane fifth
Each rugby shirt uses 150 cm of material. | material. of the ivice
One fifth of the juice is left in the bottle. JHEe:
He has a 600 cmi roll of material.
How much did Alex drink? The fraction of
How rnu_ch material is left after making juice left is 1ofthe
the 3 shirts? What fraction of the bottle did Eva drink? &
bottle.
What fraction of the original roll is left What fraction of the drink is left?

over?




